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GENERAL APTITUDE TEST

Paper-ll
1. Find the missing term ( ) in the following :
N5V,K7T, ,E14P,B19N
(@ HI0R (b) H10Q (c) 110R (d H9R
2.  Choose the correct number from the following :
B:16::D:?
(@ 150 (b) 200 (c) 256 (d) 276
3. AisB’'ssister. C is B’'s mother
D is C’s father. E is D’s mother.
How A is related to D ?
(@) Grand mother (b) Grand daughter (¢c) Grand son(d) Grand father
4.  Choose the word from the following, which can betformed by using letters in the word :
‘RECOMMENDATION’
(@) MEDICINE (b) MEDIATE
(c) REMINDER (d) COMMUNICATE
5. If the radius of a circle is doubled, its area@ases by
(& 100% (b) 200% (c) 300% (d) 400%
6. Choose the best related alternative (?) fromahewing :
Calendar : Dates : : Dictionary : ?
(@) Words (b) Books (c) Language (d) Vocabulary
7. A man walks 1 km. towards East, then turns to Saumd walks 5 km. Again he turns to
East and walks 2 km. Then he turns to North ancksval km. How far is he from the
starting point ?
@ 2km (b) 3 km (c) 5km (d) 9km
8. A man is facing South. He turned Z3nticlockwise and then 18@lockwise. In which
direction he is now ?
(@ North-East (b) South-West (c) South-East (d) esww
9. If + stands for x, — stands fer x stands for — and stands for +, then find the value of
26+74-4x5 2.
(&) 336 (b) 376 (c) 428 (d) 478
10. Which term of the series
5, 10, 20, 40, ........ is 1280 ?
(@ & (b) d" (c) 10" (d) None of the above
11. Consider the six statements :
A : All balls are locks. B : Allkeys are locks.
C : All keys are balls. D : Some keys are locks.
E : Some locks are balls. F : No ball is lock.
Choose the option which indicates a valid argumeantaining logically related
statements, that is, where the third statemertesconclusion drawn from the preceding
two statements.
(a ACD (b) BEF (c) CDE (d) CEF
12. Consider the following statement and the argumantsdecide which of the argument is
strong.
Statement
Should income tax be abolished in India ?
Arguments.
l. Yes, it is a burden on wage earners.
II.  No, itis a good source of revenue.
@ |1 () (c) landllboth (d) None
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T fgwr wieT

-1
frrefefiad & ger gam 1= ( )RTTel <HITSTC |
NS5V,K7T, ,E14P,B19N
(@ HI10R (b) H10Q (c) 110R (d H9R
Tttt & & @& 9 g
B:16::D:?
(@) 150 (b) 200 (c) 256 (d) 276
A BH g IC,BHTH & | CHUMDETNDH A ET |
A T8 ¥R D ¥ FHE=ioq & ?
(@) == (b) A= (c) =t (d) =m
Ffoiad ® § 39 v 3l 9T 57t foh 15 ‘RECOMMENDATION’ ¥ Wgar 31eR1 | 7al & Fehal |
Eag MEDICINE Ebg MEDIATE
c) REMINDER d) COMMUNICATE
Ifs Tk I i T T ST R ST ST T STHT &7 s STl &
(@) 100% (b) 200% (c) 300% (d) 400%
TfeaEd o | 3uge faehed (?) T
Calendar : Dates : : Dictionary : ?
(@) Words (b) Books (c) Language (d) Vocabulary

T TSR i 3R 1 TR, Fota &, fh STeTor 3t 3T gt 5 TRt IerdT & | O 98 U9 ot 3TR g
2 ferHt. T € | TR o IR ot 3TR {gere O fohml. Teiar & | a8 WRTeehs Reafel & feram 3 € 2

(a) 2fF. (b) 3fF (c) - 5. (d) ofF.

T ST SreA0T TS ol TR e ek @el ¢ | 9% Sl ol g ol [ fqen 7 135 g1 € 3R
fthe et ol g ot feen o 180° gear € | o1 o fohg feon d @wer g 2

(a) IW-gd (b) sferorufeem  (c) sR-gE (d) ufeam

YT+ H AT E X, —HI AT E =, XH AT —qM I AT+, AW 26+ 74— 4 X 5 2FH AT

Tl ity |

(@) 336 (b) 376 (c) 428 (d) 478
g1 5, 10, 20, 40, ...... T = AU 12808 ?

(a) 8if (b) G (c) 16 (d) =78 @ HIE T
e ST T 6 HUAT I UG

A TfiTEa € | B : wfi=rfedidcie |

C : gfi oo 7 & | D : IoAEEAAAE |

E : F9ad@ 8 | F: $Eigden=eis |

e forshed I FoTaH e o R § 3R e sk Teet 3T ot & el | Tt T E |
3TT9%h FRT AT 71T [ehe Ueh U1 3¢ STRTH-2 g ST difeheh &9 9 S[S gU aoded &t |

(a) ACD (b) BEF (c) CDE (d) CEF

e 52 T T AT Tk Rl A W @A §U A€ TF 19 I TT Ik AT €

F

iﬂmﬁwﬁwwﬁaﬁq?

I, 7 A s W om e

Il. =7, 98 TR T T=BT AL |
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(@ | (b) Il (c) I@emls=  (d) g

13. Consider the following statement and assumptionsdecide which of the assumption /

assumptions is / are implicit in the statement.

Statement

Let us increase the taxes to cover the deficit.

Assumptions

l. The present taxes are very low.

II.  Deficit in a budget is not desirable.

lll. Deficit can not be met without increasing tiae.

@ landll (b) landlll (c) (d) Irand

14. If 25™ May in a certain year is a Sunday, then which dayhe week will be 28
December in that year ?

(@) Thursday (b) Friday (c) Saturday (d) Sunday

15. Consider the statement given below :

‘Idle brain is a devil’'s workshop.’

Which of the following has same logic ?

(@) Hardwork is the basis of success. (b) A pergitimout work is rebellions.
(c) Educated people are cultured. (d) Playerphysically healthy.

16. It takes 3 hours to fill a tank but because of edeakage at the bottom of the tank, it
takes one more hour to fill the tank. In - how mamyfs, the tank becomes empty just
because of hole ?

a 8 (b) 10 (c) 12 (d 14
17. Which of the following graphs can possibly repregbe motion of a car on road ?
i
g - 3
2 3 2,
a 2 “ /
2
Time Time Tlme
1 Il 11
(@ lonly (b) landlIlboth (c) Ilandlll both dY None of the above

18. Six persons K, L, M, N, O, P are sitting arountdlale as per the following conditions :

1. Kand L are opposite to each other.

2. Mis to the left of K.

3. O and N are opposite to each other.

4. P s to the right of N.

Who is to the left of L ?

@ ™ (b)y P () O d N
19. Which one of the following pairs of words is nationally related ?

(@ Gold: Ornaments (b) Wood : Furniture

(c) Pitcher : Pottery (d) Straw : Nest
20. Which one of the following is odd one ?

(@ Peso (b) Phi (c) Gamma (d) Delta

21. The monthly incomes of six employees of a compamey15,000, 18,000, 17,500, 30,000,
17,500, 28,000 (in rupees). The number of emplojxe®srg income more than mode and
less than mean incomes is
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(@ O (b) 1 () 2 (d 3
T ST T A q gRarstt R e H Y@ gu U of 9 i | A / " e |
e /€ |

I .

HTE 1 i & 2 ST T |

l. aﬁmﬁwa@m% |

. SSEH AR ST TRl e |

I, T R SGIT §U H1eT TR 781 fohaT ST Hehell |

(@ Il (b) |7l ) @ Il T
Tt a9 o afg 2572 ot YaaR 1 e & o S a9 o 25 G st e 1 i @1 & & ?
(@) TEER (b) TsHaAR (c) viFER (d) fear
freAfafad e W foemr Fifu

‘et fSHT Sra i SEvmT e

frfeTiiaa & o= 1 e 28 99 € ?

(@) TREH Therdl 1 SR & | (b) FHERTET Al gl g e |

(c) Torfera =afoq @z e € | (d) foeTTet IS T d WA B ¢ |

Teh Sl ol W | 3 HUS o7d & oAfeh Sehl o et © Bl ofet (L&Tel o SHRUT, Sohl bl A H Teh
HUCT 3TTeeh Tl & | e o shRo1 daht &l WieAl Bl | fohe =08 oy ?
@ 8 (b) 10 © 12 d 14

frefeiiad 9 @ &= a1/ | T@ies g 90 FR o i i Gyerd: <9 & / g9 & ?

h E@%L\ -
- 7 NS

III

(@) e | (b) I= Il g () N=aNl = (d) T ¥ B RE
frferfiaa vt o 3FER 6 = K, L, M, N, O, PAST & s5-i 93 8

1. KaMLU$H TR & aRae |

2. KFTEARME |

3. OTANTHITH & g e |

4, NHFIEARPT |

L & 91 IR A § ?

@ M (b) P () O (d N
e srss-Fmai o @ i T1 U difcheh €9  Grafeerd T8l € ?

(@) 0T : ST (b) IS HAER

(c) weT: YT A4 (d) fomieh ; =igen

Frfetfia # & 9 @ o (arem) & 2

(@) (b) g (c) Tm (d) =

Tt ST o B: HHEIREAT S /MG 3 (399 #) 15,000, 18,000, 17,500, 30,000, 17,500,
28,0008 | HHHTRAT sht T&AT [Seht 3T SIgeTeh & 3Tk q1 77e © %9 ¢, gt
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@ o by 1 () 2 (d) 3
22. The following table gives the area (in square lmj population (in lakh) of four cities :
City A
Aree 128 14C 18C 20C
Populatiol 25 4C 6C 5C
The least densely populated city is
@ A (b) B (c) C (d D

23. A number when divided by 8, leaves a remainddfr @ibe of this number is divided by 8,
the remainder will be
@ 2 (b) 4 (c) 6 (d) None of these

24. The following chart shows the percentage of Emgise Labours and Administrators

working in a company. If total number of Enginemsrg5, then the number of Labours is
125 %

Administrators

Engineers

)

Labours

(@ 100 (b) 150 (c) 175 (d) None of these

25. The following table gives the annual profit of@mpany (in lakh rupees) :
2008-09 2009-10 2010-11 2011-12  2012-13

590 620 656 690 726
The period which has maximum percent increaseafitpver the previous year is :
(@ 2009-10 (b) 2010-11 (c) 2011-12 (d) 2012-13

26. The following table shows the number of Sciencgs And Commerce students in a group
of boys and girls :
Scienct Arts Commerc Total

Boys 20 - 15 80
Girls 6 4C - -
Total - - 20 -
The total number of students in the group is
(@ 127 (b) 130 (c) 131 (d) 135

27. The following table gives the import and expont ifaillion dollars) of a country :
Yeal 201C 2011 201z 201:
Import 15C 17¢ 17C 20C
Expor 14C 18< 17C 21C
The average trade balance is

(@ 8/3 (b) 7 (c) 2 (d) 28/3
28. Electronic data processing is a modern techniduehech of the following ?

(@) Programmed decision (b) Non-programmed datisio

(c) Traditional decision (d) Promoting E-Governanc

29. Your subordinate requires leave but your officekwaill be affected due to his absence
because he is a key person for that work. You shoul
(@) refer his matter to your superior.
(b) sanction the leave.
(c) ask another person to do his work.
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(d) meet him, discuss about the reason for leaddrg to convince him the urgent need
of his presence.

frfeTRad SRl | =R RI &1 &%t (a7 foRmr. /) oo SHEE (A §) e &

TR A B C D
TR 125 140 180 200

G 25 40 60 50

=JFH SEEAT T el TR E -

(@ A (b) B (cp C (d) D
TFd G il 8 W YIS W 2 VY SaaT € | ST HEAT o O bl 8 H I 34 T IS =
(@ 2 (b) 4 (c) 6 (d) =8 T HIE &l

fefefad Tattes T Frt § SRR SNEl, ASgl o URIHeRl T WA ST € | Al
TNTERT Y el AT 758, A ASTGRT bl T &It

12.5 %

TR &

375 % 2 3 3| SR €

TeY &

50 %

(@) 100 (b) 150 (c) 175 (d) =78 | =g T@I

frTeTRaT ARt Ueh ST o &t o (g . |) il @
200¢-098 200¢-10 201C¢11 2012112 201-13

59C 62(C 65€ 69C 72¢€
e qHF A S 210 fumet o sl G § SRy uiderd Ty geT g, § ¢
(@ 2009-10 (b) 2010-11 (c) 2011-12 (d) 2012-13

Tt IROT Aigehi & eTefRal o U Te | &=, el 3 aifvrsy & faenteai s T o &
o= wonm A A

ATH 20 . 15 80

SR 6 40 - -

T —~ h 20 -~

TE W et forieat sl T &

(@ 127 (b) 130 (c) 131 (d) 135
Frefetfiad TRl Ues <97 &1 2 e R (fafera Ser |) genar @

Y 201C 2011 201z 201c

SR 150 175 170 200
IERIE) 140 183 170 210

31T AR T &

@ 8/3 () 7 ) 2 d) 28/3
TASEIeh STUR-TTH TshHOT (S1eT W) Fefefad § & fhaent sy a2
(@) =g ot (b) IR-THIEg g =

() WERHER ety T3 ot st (d) ETTad st ggme a4 &

MUk ST FHAR! Y MY W 3! IR & 3Nk TN &% 1 I THAH &
HiToh 3T I & T Uh H&F AT & | STIR FT FHEAT M6 ?

() T HHA Pl 30 3o SUHRT BT AT T |

(b) T ER AT |

(c) TRl 3T AR bt ST I FA o 11T e |
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31.

32.

33.

34.

35.

36.

(d) 3TQ foct, IS & HRUT & a9 H e B S SYH! STRATT HT SEaehal & TR § 39
T A T T |

Authority means :

(i) power to take decision

(i) power to communicate decisions to subordigate

(iif) power to influence the behaviour patternpafople in organization

(iv) power to make subordinates socially respdasib

(@) only (i) is correct. (b) both (i) and (ii) acerrect.

(c) (i), (i) and (iii) are correct. (d) all thedr options are correct.

The alphabet which appears in the middle of a megém word beginning with ‘A’ and
being formed by using the first, second, fourththfiand sixth letters of the word
‘CONTRACT is

(@ C by T () O d R

In the process of communication, which one offttlewing is in chronological order ?
(@ Communicator, medium, receiver, effect, messag
(b) Medium, communicator, message, receiver, effec
(c) Communicator, message, medium, receiver, effec
(d) Message, communicator, medium, effect, receive

Communication via new media such as computersshepping, internet and mobile
telephony is termed as

(@) Interactive communication (b) Entertainment

(c) Developmental communication (d)  None of these

A number when divided by 17, leaves remainder BatWemainder would be obtained by
dividing the same number by 357 ?
(@ 42 (b) 41 (c) 39 (d 35

If a carton containing one dozen eggs is droppéaich one of the following can not be
the ratio of broken eggs to whole eggs ?
@ 5:7 (b) 1:4 (c) 1:2 (d 1:5

Which of the following statement(s) is (are) tal®ut decision-making ?

1. Itis an act of determining a course of action.

2. It means choosing one alternative from amomgpua alternatives.

3. Itis synonymous with policy-making.

(@ 1,2and3 () 1and2 (c) l1and3 (d) onlyl

Instruction : Answer Q. Nos37 to 39 on the basis of the following data.
The food values and the unit price of a numbepofifitems are given below :

Food % of % of % of Cost per
protein carbohydrate fats 100 gms )
A 10 20 30 1.80
B 20 15 10 3.00
C 20 10 40 2.75
37. Which of the following diets would supply maximurnofein ?
(&8 150 gm. of A and 200 gm. of B (b) 100 gm. cduizl 200 gm. of C
(c) 500gmofA (d) 350gmofC
38. All the following diets would supply at least 78ng of fats. Which of these diets would
cost the least ?
(&8 200 gm of A and 150 gm of B (b) 500 gm of B d®0 gm of A
(c) 300gmofA (d) 200gmofC
Series-A 8 LPS
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If one’s diet has 100 gms. of A, B and C each,twéhthe amount of fat included in the diet ?
(@ 45gm. (b) 50 gm. (c) 65gm. (d) None of thewe
MR VITeRd T ST ¥

() T o= ot ot

(i)  ToTat ot STefiFeet At Grad <A i IR

(iii) TS H PR AT & HTGR-TET i T H ohl TR

(iv) 3Tt SRt WIHTTSTeR ® F STREMET S i v1terd

(@) oo () TEHE | (b) (i) (ii) I W E |

() (), (i) = (iii) WEE | (d) =X fawca el e |

TS 37U 915 ISR IRET ‘A’ | 7, 15 ‘CONTRACT’ & Ugdt, T8, =i, Ureel 31X 33 3Rt
Y JAITTAE | 3T STYOT V163 o T BT SR &

(@ C ) T ) O d R

FEoT ufshar § FEfAREd 8§ 9 iF 91 ek AR § ?

(a) TEITeh, HTEAH, UTEThl, T, <91

(b) HTEH, TS, T3, T, T

(C) THINF, =T, HTEAH, UTeehell, TS

(d) T=T, GHINF, TTeAH, T, TTeshdl

T AT S o IR, TSI, TRIAS SR TS Selthi-r & FRT fohU T THINoT 3t et ©

(a) T=i= fepa Tt (b) T

(c) TorerrdTeTe: THioT (d) 39 9 =g T&r

TRt T st 17§ 91T 37 W 5 99 T ¢ | 3H T 357 TR 7 W T Y F2 ?

(@) 42 (b) 41 ) 39 d 35

T feea 5198 U 399 31T €, R 51 € | Fetaiad O @ A 97 22 gU STel T Qe el 4
TTITA el & Tehell ?

@ 5:7 (b) 1:4 (c) 1:2 (d 1:5

fom e & aR d Fefafed 4 4 a1/ @ FA g e /€ ?

1. I HH & LIk T T AT |

2. TTH 37 ¢ fafy= faeredl § 9 U fashed 9= |

3. e Aifd-faror St wErger € |

(@ 1,293 (b) 132 ) 193 (d) Faerl

e : et el & 3TER W U9 |, 37 9 39 T &1 3R ST |
F W YRTIT T Qe HIH T 3h1e Jod Ffeiad ¢

TR | MM % | FERERSE % H | MW H | gew ufa 1009 ()
A 10 20 30 1.80
B 20 15 10 3.00
C 20 10 40 2.75
37. f=fafEa o 9 9 91 3R ATehdd WieH 37m ?
(@) Awr 1507t @ B =1 2007T. (b) B 100UT. I C &1 2007T.
(c) A 5007 (d) C=r1 3507
38. fr=fifiad @t 3MER &9 & F7 7577, SHI3d & | 398 § FiF T7 3ER Ta8 T 21 ?
(@) A 2007 9 B & 1507 (b) B 5007 T A % 1007T.
(c) A 3007 (d) C 2007
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40.

41.

42.

43.

44,

45.

46.

i< ol & SRR A A, B & CUcds 100-1000TH & o &R o o6 shi Al fohert & 2
() 45 (b)  50mm. (c) 65 (d) =8 9 FIE &

The notatiod_ris defined as factorial n and it means the prod@ipositive integers from

1 to n, for examplh% 1 x 2 x 3. Now form the sum S|i+ 2+ |§+ |i+ ..... uptoco.

If you divide this sum S by 8, the remainder is :
(@ O (b) 1
(c) 2 (d) cannot be determined

The number of integers between 1 and 100 (inctuimth) which are fully divisible by 3
or5is:
(@ 47 (b) 49 (c) 51 (d) 53

Study the following statement and the assumptamtsdecide which of the assumptions is
implicit in the statement.

Statement

If it does not rain throughout this month, mostifars will be in trouble.

Assumptions

l. Timely rain is essential for farming.

II.  Most farmers are generally dependent on rains.

@ |1 (o) (c) landll (d) None of these

Consider the following statement and courses tibacdecide which course/courses of
action logically follows/follow for pursuing.

Statement

Nuclear power can not make a country secure.

Courses of action

l. We should stop further increasing our nucleaser.

II.  We should destroy our nuclear capability.

lll.  We should focus on improving diplomatic retats.

@ | (b) I (c) 1 (d) Tlandll

Study the following statement and the argumerddagide which argument(s) is (are) strong.

Statement

Should seniority be only criterion for promotion ?

Arguments

l. No, it would be an injustice to those junioreavare more deserving and suitable for
higher position.

II.  Yes, otherwise seniors will feel humiliated.

lll. Yes, seniors are more experienced and muséwarded.

(@ landll (b) Nandlll (c) | (d) None of thes

Study the following statement and conclusions @alde which conclusion is logical.
Statement

Money plays a vital role in politics.

Conclusions

l. The poor can never become politician.

II.  All the rich men take part in politics.

@ |1 (b) 1 (c) landll (d) None of the above

Study the following statement and courses of actéind decide which course(s) of action
is (are) logical.

Statement

The migration from villages to cities is detrimainio both.

Courses of action

l. Rural postings should be mandatory.

II.  Employment opportunities be created in village

Series-A 10 LPS
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41.
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44,

45.

46.
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lll.  There should be trains lining villages toies.
@ | (b) 1 (c) (d) Tlandl

Uik | N Sl HFRIREA N FHET ST § 3R Ther 379 ¢ & 1§ n @ o gAIeTeh qUITehi i o,
[3=1x2x33@ AMTHATSTRETH RS =| 1+[2+[3+[4+ ... 377 |
IS 39 AT ST 8| AFT S Al I =

(@ O (b) 1

() 2 (d) e =&t fopa T gehar
1@1ooésaﬁaﬁ(ﬁﬁmﬁawﬁ§q)ﬁﬁqﬂﬁﬁﬁmsﬁsm5@@ﬁ forefora g 2, &
(@) 47 (b) (c) 51 (d) 53

ﬁmﬁf@ﬁwawaﬁﬁw%ﬁaﬁwaﬁﬁﬂﬁmﬁ?ﬁrwmﬁ FHRET S |
I
I QR eI SIS TéT Biall & ot SAeher foha ke § Ug S |

HIT
I o923 § aiier Bt & fou sfed €

. 3ifeehe [ HEME: SIeT W R e € |

(@ | (b) Il ORNEL (d) =99 9 ®IE T&l

TATeTEd o T2 St st & | W@ gu Mo & ok i 91/ § S dlfeheh ©9 9 foram S /
%F'vaiﬁaT%m

gﬁmrrﬁa@awﬁﬂﬁmﬂﬁwm |

|, =if7ehra wIfeRT ot ST &< Y &1 A116T |

[l YPIT ST I T T 37T e |

ll. e gl sl URA I FeT 3T el |

@ | OL @© @ 1=l

ﬁmﬁf@ﬁwaaﬁﬁw&qaﬁiﬁﬁavﬁﬁqﬁﬁaﬁqm/ﬁﬁ%mﬁﬁwﬁ%/% |
qﬂﬂ%%mwaﬁwmﬁmﬁmaﬁq ?

r TE, 3 S FHHANET % (70 T8 ST B A U] o o0 377eeh shiferet 31X SRt & |
Il T, 3= AR =R X JET |

. &, aRs @ aﬁa-esaﬁn-oﬁ% 3R 3% T TR AT T |

(@ =l (b) nall @ | (d) A9 ¥ ®IE &l
AT e oo TRt ot &3 § T (org 2 o 1T 9 frsehel afcheh € |

O
Wﬁ%ﬁmaﬁﬂm@ T BT § |
1 e o T T S e |
., S G T Tog |§ A e §

(@) | (b) 1l () Il (d) T3 FE TRl
fr=feTiae e oo St i & | Tge oTg o 6 e a1/ | 1 aifes &/ & |

T
ﬁ@mﬁﬁaﬂ?wﬁ%mw%
I it 3 gt s A |
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I, et 37T I i Sirg & fore 24 gt 91fe |
@ | (b) N (c) (d)y 1=

47. The minimum number of colours required to fill tepaces in the diagram without any
two adjacent spaces having the same colour is
(@ 6 (b) 5 () 4 (d 3

48. Study the following statement and conclusions dedde which conclusion/conclusions
is/are logical.

Statement

Soldiers serve their country.

Conclusions

l. Men generally serve their country.

II.  Those who serve their country are soldiers.

lll.  Some men who are soldiers serve their country

IV. Women do not serve their country because #reynot soldiers.

(@ (b) N () 1 (d) Tlandll

49. Study the following passage and find out whiclesteent is best supported by this passage :
“The school has always been the most importantnsed transferring the wealth of
tradition from one generation to the next. Thislegsptoday in an even higher degree than
in former times for, through the modern developnwrgconomy, the family as bearer of
tradition and education has been weekend.”

(@) There are means other than schools for tranfteaditions.
(b) Several different sources must be tried.

(c) Economic development plays a crucial role.

(d) Family as ever, is the most popular means.

50. In an envelope, there are some currency notesemotal value is 100/- and their number
is 10. There is no currency note of 10/- denomamatiHow many notes of 5/-
denomination are there in the envelope ?

@ 2 (b) 3 (c) 4 (d 5

51. Formtheproduct S=1x2x3x4x5x6XxX7%xBx ........ x 50
Counting from unit’s place, the number of zeroSirs :

(@ 10 (b) 11 (c) 12 (d) None of these

52. In the following, find the option which is diffemefrom the other three options, which are
alike in some manner.

(@ 71,17,11,5 () 71,67,7,3 (c) 37,19,15,(d) 17,13,5,3
53. There is given below a question followed by twatestnents :
Question: x and y are two numbers, Whaéé?
Statementi (S1) : Their average %times y.
Statemen® (S2) : Their difference is 3.
Which one of the following is correct in orderttbpecific answer to the question is obtained ?
(@) Both the statements S1 and S2 are not suftitdieanswer the question.
Series-A 12 LPS
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(b) S1 alone is sufficient to answer the question.
(c) S2 alone is sufficient to answer the question.
(d) Either S1 alone or S2 alone is sufficientnevaer the question.
47. qﬁﬁjﬁn'g?%%wﬁﬁ T M Aot fafa= I S FAaH 6, Sl W & 99-UT & 90 | U6
RISl s

(@ 6 (b) S (c) 4 (d) 3
48. TR o o Fehst st e 5 T (0T o foh b |1/ 8 epy arfeer g / €

T

I T ST I YA F & |

e

| T T5Y 370 S97 St Wel R © |

. ST 3T TR WA A &, o AFH € |

. 2 I S A €, 3797 37 ot W 3 € |

IV. Hiecamd 3o <90 Yol Tl it Faifeh o df-eh Tl el & |

@ (b) I © | d 171

49. FreTAEd ETeT Sl Tgeh T o (oh i< AT hel oI@ieT §RT o 31 THiad & ?
“THoT FHET W U UGl § T Tigt § UREReh Hodl o se=RuT o Hewd Ul 9TeF © § | 98 37T
% T H SR o 1w Hewaqol €, Ugel hi STUET, Tk MY MM fohrg § uRer, it fF
TRERTST F 9187 T e €, il HHSR har g 7
(a) TRERIST % EEATCRUT & {oT8 bl oh STeATa TR off Te € |
(b) e fafe= |idi S ATSTAET =@My |
(c) mieeh faehr it o= i1 & |
(d) URER gHEM S TE, TIY AR AEA E |

50. ol Tt | P T Al & e o7 goar 100/-8 T et ot 9= 108 | 10/- gog-ait
HE A TE e | TT®h § 5/- Tog-arT & foha A @it ?

(@ 2 (b) 3 (c 4 (d 5
51. UHTUHETRES =1Xx2x3Xx4Xx5Xx6X7X8X9xX ... x 50
THTE o W F A W), ST 9= i g g
(@ 10 (b) 11 (c) 12 (d) 37 @ I T

52. e 8 9 39 foehed sl 9T STt 311 i fosheal @ frat o @ =T (37e7) € |
(@ 71,17,11,5 (b) 71,67,7,3 (¢c) 37,19,45,(d) 17,13,5,3

53. A TR U @ g | WY % IR & T (-1 T F-2) KA T
T X Ty S G © |§EF¢1T%?
W-l@-l):waﬁﬂﬁngw%l

FHT - 2 (F-2) : SR IR 3T |
T3 o FTEd SR e, 39 fou Fteiaa 5 & i T 9et € ?
(@) W I ST UM & (o0 31 o (F-1 T H-2) T Tei & |
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(b) W I ST UM & feTT -1 30 ST H T & |
(C) WY I I UM & [T F-2 30 AT H 7T & |
(d) V¥ T IR UM % TT0 -1 370 3T H 37201 -2 379 T H G ¢ |
54. There is given below a question followed by twatatents :
Question : Ix greater than 'y ?
Statement 1x is greater than 30.
Statement 2 : y is greater than 27.
Which one of the following is correct in order thepecific answer to the question is
obtained ?
(@) Both the Statements 1 and 2 together are sa&get answer the question.
(b) Both the Statements 1 and 2 together areutfitient to answer the question.
(c) Statement 1 alone is sufficient to answerghestion.
(d) Statement 2 alone is sufficient to answerghestion.

55. Below is given an Assertion (A) and Reason (Rjdabe:
Assertion (A) : Salt is added to cook food at higher altitudes.
Reason (R) :Temperature is lower at higher altitudes.
Which one of the following is the correct answer ?
(@ Both (A) and (R) are true and (R) is the carexplanation of (A).
(b) Both (A) and (R) are true but (R) is not tlogrect explanation of (A).
(¢) (A)istrue but (R) is false.
(d) (A)is false but (R) is true.

56. Below is given an Assertion (A) followed by Reag®) :
Assertion (A) : Pressure cookers are fitted with ebonite handles.
Reason (R) :Ebonite is strong.
Which one of the following is the correct answer ?
(@ Both (A) and (R) are true and (R) is the corexplanation of (A).
(b) Both (A) and (R) are true but (R) is not tleerect explanation of (A).
(c) (A)istrue but (R) is false.
(d) (A)is false but (R) is true.

57. Below is given an Assertion (A) followed by Reag®) :
Assertion (A) : We prefer to wear white clothes in winter.
Reason (R) :White clothes are good reflectors of heat.
Which one of the following is the correct answer ?
(@) Both (A) and (R) are true and (R) is the carexplanation of (A).
(b) Both (A) and (R) are true but (R) is not tlogrect explanation of (A).
(c) (A)istrue but (R) is false.
(d) (A)is false but (R) is true.

58. Below is given an Assertion (A) followed by Reag®) :
Assertion (A) : Goitre is a common disease in mountainous regions.
Reason (R) :Diet of the people in mountains lacks iodine cahte
Which one of the following is the correct answer ?
(@ Both (A) and (R) are true and (R) is the corexplanation of (A).
(b) Both (A) and (R) are true but (R) is not tleerect explanation of (A).
(c) (A)istrue but (R) is false.
(d) (A) is false but (R) is true.
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59. The digit in the unit’s place of the number
178999 ;. 111999 _ 71999,
@ 3 (b) 7 (c) (d) None of these
54, e U Ue o T |Wé€aﬁﬁw(aﬁlaasz)%ﬁnﬁ%
TIT: XFTY W TSTE ?
F-1:x 309 TLTE |
H-2:y, 278 TLTE |
7Y T HI¥ed SR MHet, 39 fow fFefaiad 5 9 &9 T Tl g ?
(@) VY 1 IR UM % oG, ST He (F-1 o H-2) ST € |
(b) W¥ I ST UM & AT, 1 e (F-1 9 F-2) T Fer € |
(C) VY T ST UM % foIU -1 30 39 H 9 & |
(d) T H S IA & AT -2 370 I H g € |

55. = Ush THR () {4 T € 31 SR ShRoT o e 7 e
F (A) : TS oA T § IS Yeh o fefT SHH Heh e S g |
FRT (R) : ST Il TET A aTIHE Y BT |
frfeiad o 9 i 91 98l ST E 2
(@) (A)T (R)H g € a1 (R), (A) Hl 9el AR |
(b) (A (R) 3 T &, T (R), (A) ot Tt =amem Faf € |
(c) (A)TEE, fF (R) ITHFT |
(d) (A) 9 g, 7] (R) T ¢ |

56. 9 U TR () f5ar T & ek 918 S ROt A T e
%9 (A) © DIR T H TS o1 &edl (E567) oM erar € |
FR (R) . TS A BT § |
feferiad & & =i |1 el ST E 2
(@) (AT (R)IH A€ T (R), (A) Sl Tel AR |
(b) (A (R) 3 ¥ €, T (R), (A) 3t T&t =amen Tei € |
(c) (A)TEE, < (R) ITF T |
(d) (A) 9 &, g (R) TS % |

57. = U TERiA (55 feam T & TSeh o8 39eRt SR A T e
%o (A) . SISl H U8 % {oT0 87 9he HUST i ST 3d ¢ |
FR (R) : T UL, T o 3T Wel &id & |
ffaiad | | 6 91 98l ST E ?

(@) (AT (R)=H T € 921 (R), (A) ! 9&l AR |

(b) (A)T (R)=H T &, fh (R), (A) F Tl AT TET € |
(€) (A)T=E, e (R) Y T |

(d) (A) yHF &, < (R) T T |

58. i Uk THR () feam T & FSTeh o1e et SRt 5 T e
F (A) : UTS! &5 T Tgex (T M) Ueh HH SERI T |
FRT (R) : URTS! &1 W T o ISt § AT ht W A el € |
frefefad & @ i @ W@ s E 2
(@) (A (R)H @ € 21 (R), (A) 1 9&l AR |
(b) (A)T (R)SH T &, fheg (R), (A) 1 W&l AT TET € |
() (A)F=E, < (R) WHFHE |
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(d) (A) 9 g, 7] (R) T % |

59. e 1799+ 111999 79995 eog & v W ot et g @

(@ 3 (b) 7 ) 9 (d) =79 § FIE et
60. Which of the following is correct ?

(@) The calendar for the year 2003 will servethfar year 2014.

(b) The calendar for the year 2003 was same a20ft8.

(c) The calendar for the year 2003 was same a20ft2.

(d) The calendar for the year 2003 was same a20fbt.

61. Land price is a big hindrance to competitive Imdooduct and services because
(@) More land is required for urbanization in kdi
(b) Urbanization has increased land prices indndi
(c) Farmers are not ready to give their land fojgrts.
(d) High land prices increase the fixed cost isibess.

62. Which one of the following is most appropriate @éasure desired limit of forests
prescribed in Indian forest policy ?
(@) Transfer agriculture land to forest land
(b) Increase forest land 2% per year
(c) By afforestation of land in a scientific manne
(d) Declare cutting of any kind of tree a crimin#lence

63. Which of the following is different from the othdree ?

(@ 1719 (b) 2834 (c) 1528 (d) 2349
64. The relationship “Optimistic : Pessimistic” is begplained in which one of the following ?
(&) Difficult : Impossible (b) Export : Import
(c) Study: Play (d) Tolerating : Disgusting
65. Which one of the following is different from théher three ?
(@) HI (b) PQOR (c) WYYZ (d) TUuuVv
66. Which one of the following is different from théher three ?
(@ Algebra (b)  Arithmetic (c) Geometry (d) Mathatics

Study the following figure and answer the questiombers7, 68 and69 :

67. What is the number of squares contained in thedi@

@ 5 (b) 6 () 7 (d 8
68. What is the number of straight lines which is rezetb construct the above figure ?
(@ 13 (b) 15 (c) 11 (dy 12
69. What is the number of triangles contained in tgare ?
(a) 16 (b) 20 (c) 22 (d 24
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70.

60.

61.

62.

63.

64.

65.

66.

A'is elder to B while C and D are elder to E wiss Ibetween A and C. If C is elder to B,
which one of the following statements is necesgéanie ?
(@ EiseldertoB (b) AiseldertoC (c) ClidegtoD (d) DiseldertoC

frfafea & @ = @@ e ?

(@) 2014 feTu =@t shet=eT &I St 2003 forw o |
(b) 20033 2013% Fers THH & |

(c) 200337k 2012 FHei=e T & |

(d) 20113 2003% FHer< THF & |

TR IS 3T FaTeT ot ATqeqeieeh - § T St hiad Ueh Sl aTe & Fiish
(@) YRA T IeAH0T o ToTu 31feyeh gy ht STavashar ¢ |

(b)  ITERRUT @ YR | o Bl AN § IG5 & |

(c) uRAISTIS o foTu fham 310 STHIA <= 1 R &l & |

(d) S=a -7, SR | HivEd e & sger g |

TR o Fifd gRT iR o7 HH1 o <8 i U1 H3 o Tl (ieiiad 9 9 i 91 U e
SYIHI € ?

(@) M g FH T T H gEaRoT

(b) a= g § ufd a8 2% i g

(C) dISiIiep ot & STTHR - IhT0r ek

(d) TRl off TRE o U i 1 i ST HET Hieh

frfoTiad & § 9 &1 3= a4 9 T § ?

(@ 1719 (b) 2834 c) 1528 (d) 2349

“ STTRTTETET ; FTeTTER” o T W (ETead § § fhaH Ged 3T alieh o WHETAT A1 € ?
(a) hic : s (b) fara ; emma

() U : We (d) TE=TeleT ; FoTSHS

fr=feAfiagd 5 9 9 91 Teh 377 diF1 ¥ ST ?

(@ HI (b) PQQR (c) WYYZ (d) TUuv
frAfelad § 9 &9 |1 U 3= di91 9 AT g ?

(@) Sremm (b) aismmiT (c) wafufa (d) i

e 5T T o St SATYeeh S @ TeH WEATst 67, 689 69FH IW T

6/

68.

69.

LPS

=9 foa § 319 aTet ot bl ST e ?

@ 5 (b) 6 © 7 d) 8

I G TGS ol G 7 & TS EeT {Eral bl SAersaendr 38 o ol a9 | TSl & ?
(@ 13 (b) 15 ) 11 d) 12
fe o o1 At Bregsit B A A R 2

@ 16 (b) 20 ) 22 d) 24
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70. A BU TSI @ CTND, EXSS € |E,AGCHmeaA e 13k C, B a1 &, @9
fefefiad & & i o1 e STavaqd T § ?
(@) E,Ba=eig | (b) A CHSeg | (c) C,DATerg | (d) D, CITSTR |
71. 1f 50% of k —y) is equal to 30% ok(+ y), then what percent afis the value of y ?
(&) 400% (b) 40% (c) 15% (d) None of the above
72. The missing number in the following series :
5, 41, 149, 329, 5
(a) 481 (b) 489 (c) 581 (d) 589
73. If CONSTITUTION is coded as DNORUHUTUHPM in a cart language, how can
DISTRIBUTION be coded in that language ?
(@ EHTSTHCTUPHM (b) EHTSSHCTUHPM
(c) BHTSSHCTUHPM (d) EHTSSHCTUJNM
74. Find the value of
\J42 +1[42 +~[42 + ... uptom
@ 7 (b) -7 (c) -6 (d) None of these
75. What is the angle between the two hands of a cdbé&k: 50 hours ?
@ 2 by % (c) & (dy 10
76. Find the average of all the even numbers andviiage of all the odd numbers from 1 to 45.
(& 24and?223 (b) 23 and?24 (c) 24 and 25 (d) rmB28
77. Find all the possible values w{wherex is an integer) for the following expression :
5<Xx+2<17
@ 1,2,3,4,5 (b) 1,2,3,4 (c) 2,3,4,5 ) (B,4,5
78. A person was appointed for a 50 days job on aitiondhat he will be paid 12 for every
working day but he will be fined 6 for everyday he remains absent. After completibn
work, he gets 420. For how many days he remained absent ?
(@ 5days (b) 10 days (c) 12days (d) 15days
79. Find the missing number (marked as ?) in the ¥ahg figure :
3
4 ? 4
4
(@ 4 (b) 5 () 7 (d 8
80. A result of a survey of 1000 students with resgectheir knowledge of History (H),
Geography (G) and Civics (C) is given below :
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

LPS

What is the ratio of those who know all three solg to those who know only Civics ?

(@) % (b) 1—10 (© 2% (d) None of these
g (X — y) T 50%, & + y) F 30%% SRR &, o y 3T A X H e UTaerd & 2

(a) 400% (b) 40% (c) 15% (d) T & 1 T
f=teAtad got

5, 41, 149, 329, H gt gs g e

(@) 481 (b) 489 (c) 581 (d) 589

e CONSTITUTION =t forat gishfaes vt # DNORUHUTUHPM fer@ar sier €, o 39t
Hiehider 91§ DISTRIBUTION it & feran soem 2

(@) EHTSTHCTUPHM (b) EHTSSHCTUHPM

(c) BHTSSHCTUHPM (d) EHTSSHCTUJNM

\J42 +7[42 ++[42 + ... 51 oo B0 T T A |

(@ 7 (b) -7 (c) -6 (d) T & HIE TRl
TS i qT GeATl & srd 7 9 T5TRY 50 f-e TR fohc= 3797 T 0T & 2

@ 2 b) & ) & d) 10

19 45T ol T T TS 1 G a2r T fouH et i 3Tidd 70d i |
(a) 247 23 (b) 23724 (c) 24aem 25 (d) 2323
freferfiaa srfiyeafa

5<X+2<17

% T X & (STET X qUTTeh &) elt Greqifere | F1 hifsTy |

@ 1,2,3,45 (b) 1,2,3,4 (c) 2,3,4,5 ) (83,4,5

50T % 1 o TI0 Ueh i 9 91 W e fomaln 7T fof 38 Uedeh & fea@ & 125w s
TR T U 189 WX 6 ST Sh1el ST | i FH g W 39 4209et | 9% fha

feT srufeerd w@r ?
(a) 5f= (b) 10f= (c) 12f&= (d) 15f=
TeifeRe e § B2t g 9 (? 9 fafeta) s it

3

4 ? 4

4
(@ 4 (b) 5 () 7 (d 8

100§W$W(H), et (G) T AR I (C) & T o T 1 IR i fo o
Tae:
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ST BT AT {5 S € T S ST Shelel AN I ST &, ST ST 1 & 2

@ 3 ® 15 © 3 @ v

81 — 83 : Passage for comprehension

Note : Read the following passage carefully and answegtlestions given below :

Since he returned from the war, things had not lzpete the same. The day he returned, his
fiancée and his family met him at the station. Tleeybraced, and wept, and later on they
laughed. His fiancée asked him if the war had Hesoh He said it had been all right but he
wished so many of his men had not been killed. sstié she had been simply dying for him to
come back. He said that was very nice of her. Then talked of the blackouts and the air raids
and the things they had seen on T.V. By the timey tteached home she was saying that
because of staying cooped indoors for so many egsenshe had been eating too much and
would now have to diet. Now, where he had come frdays on end, he had not met a man,
woman or child who had not been hungry, always hung

81. Why did they embrace, weep and laugh when theyairtéie station ?
(&) Because he was coming from a long distance.
(b) Because he was coming after a long time.
(c) Because they were so happy to see him saéely from the war.
(d) Because the war was over.
82. Why were people always hungry at the place frorere@lhe had come ?
(a) Because they were dieting.
(b) Because there was a scarcity of food.
(c) Because they did not like the food.
(d) Because they had no time to eat.
83. The meaning of the word ‘Cooped’ is :
(@ Confined (b) Beingidle (c) Sitting (d) Sleegi
84. Which of the given alternatives best expressesititerlined part of the sentence ?
They veneratethe old teacher.
(a) respected (b) followed (c) questioned (d) adyu
85. Give the one word substitution of ‘the act of ikl a person painlessly for reasons of
mercy’.
(@) Expiate (b) Euthanasia (c) Epitaph (d) Eradica
86. Put the following sentence into indirect speech :
He said to me, “what were you doing ?”
(@) He said to me what | was doing.
(b) He asked me what | had been doing.
(c) He asked me what | was doing.
(d) He asked me what was | doing.
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87. What is the antonym of ‘Dusky’ ?
(@ White (b) Interesting (c) Bright (d) Slow
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¥ S 88 93 [ 3atod T |
ffofad maier & SR R 9 98 T3 79t & SR 11T :

YEPTd 31X g7 o & §gd et § | el W gt Sem IR UHT offfdT & SI9 Weahid 9 ol &l 31T
WIE | 3T A TTIROTTAT STehT 37T ek ST Givehet & STl & laﬁwﬁaﬁﬁ@ﬁﬁ 3T & off =7,
T eI IR ol g Gohdl €, ATk g9 I3 Tg T &, 3T Gohlael § GEh(d AT & | STd 91 o1 &9
AT AT, T T Tl g T, ST W T S T, wgimqa%wwﬁﬂmw TS T STa
319 3 A oAt TG-S A T | I Y SR 8 T o 3R A7 AR ST ot
Q‘cﬁﬁ?%“rﬁﬂ?rmﬁ%:r T o el oI | o S fgmed-faned @uel § Sed o, ik 9 31k el o
3Gh! AN g o, T 3TY P T SR TATHT i T o Ui ST T Sl i ol o eiR-4R
T8 W ST B ST | R T Y T W 3 Y % W F SR e 2 b, T el o
mmaﬁiaa%mmﬁ@r@%aﬁwaﬁﬂﬁa 3, el 7RI A & T | E e e T
T T | ... T GEHH B W I &, A i Hdwaﬁwsdl% fordlt ot oRE gt =&, it 9
T 3 FoT S B SROT H W T A | W H e Wit 9 3 S o o e 6 8, 39
31 Figie 34t Rel IR ol € 31 o7 o At € |
88. ‘yH’ I HA 39T eI ©

(@) TEE H HAHES § e (b)  3TOURTeT Wl o U ST

(c) TUSTH g @THlHﬂwaﬁW (d) HFEE godt i T

89. U TRITTRUI & AR ‘TEHIA' T SER & :

(a) afaantsar (b) TWE (c) SEa-goa (d) weea
90. frfeifad & & ueh forgioar sargd s Tepid o T2l &
(a) UMD S TET T WS | (b) [ % fota ST =t SO & |
(C) WG AT i T&T T | (d) AT o HgXATa! AT HET |

91. ‘&Y’ o T W ‘GRS ATH SToHT ¥ 3i&ded | 37
(a) 9 ¥ H HHRUS T SUiIvarg 1 Tfada g7 |
(b) STe &, AR 9 W o |
(c) ST 4T ST T T |
(d) e g Sfe-UgTd T e o |

92. ‘FEe @ fT=teAtEd § | U 31 6l §

(a) TreRfEd (b) Tovrs (c) fomdw=® (d) W=
93. ‘Hivwr V= fhe W & ?
(a) Tt (b) (c) owar (d) wrE
94, ‘WX’ I g
(@) = (b) e (c) wmREa (d) 3™
95. fHfcIfEd o | ‘SRe’ IR ST qaTgETH 6% i A Tér ¢ ?
(@) = (b) U (c) =T (d) e
96. ‘fTEE™ H U U € . .
(@ (b) (c) fr= (d) =T 9 = T
97. FHfciiad & | sgsiife Taw foped & ?
(@) Har-foar (b) Tt (c) SR (d) &R
98. ‘T 3T el & 3 &
(@) 2T AR WA FHEAT (b)  THTH-HTST GHEAT
(c) feamem feher (d) oraat =it g
99. ‘TRES! i T TREST T IKAT & - AR T 31 &
(a) IR ST T 39T TSATE | (b) TECT SHTET W AT ATST |
(c) Ul R | (d) 5T =T et AT 92T |
100. fF=fafed 4 @ qead I S A e ?
(a) R (b) e (c) @t (d) =it
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